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CLASS : 10th (Secondary) Code No. 5503 
Series : Sec. April/2021 
Roll No.           

xf .k rxf .k rxf .k rxf .k r     
MATHEMATICS 

HkkxHkkxHkkxHkkx – II 
PART – II 

¼¼¼¼ oLr qfu "BoLr qfu "BoLr qfu "BoLr qfu "B     iz'u½iz'u½iz'u½iz'u½     

(Objective Questions) 

(Academic/Open) 

[ fgUnh ,oa vaxzst h ek/;e ]  

[ Hindi and English Medium ] 

(Only for Fresh/Re-appear Candidates) 

•••• Ñi;k t k¡p dj ysa fd Hkk xHkk xHkk xHkk x–II ds bl iz'u-i= e sa e qfnzr i`"B 8 rFkk iz'u 40 gSaA 
 Please make sure that the printed pages in this question paper of Part-II are 8 in 

number and it contains 40 questions. 

•••• ijh{kkFkhZ viuk jksy  u a0 iz'u& i= ij vo'; fy[ksaA 
 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj y sa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl 
lEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; k tk;sxkAlEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; k tk;sxkAlEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; k tk;sxkAlEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; k tk;sxkA 

 Before answering the questions, ensure that you have been supplied the correct and 
complete question paper, no claim in this regard, will be entertained after 
examination. 

lkekU; fu nsZ'k  %lkekU; fu nsZ'k  %lkekU; fu nsZ'k  %lkekU; fu nsZ'k  %     
General Instruction : 

    (i) lHk h iz'u vfuok; Z gSaAlHk h iz'u vfuok; Z gSaAlHk h iz'u vfuok; Z gSaAlHk h iz'u vfuok; Z gSaA     
        All questions are compulsory. 

 (ii) lglglglg hhhh  mÙkj viu h mÙkj&iqfLrdk eas fy f[k,A 
  Write correct answer in your answer-book. 

SET : B 
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 ( 2 ) 5503/(Set : B) 

5503/(Set : B)/ II 

1. la[;k 3825 dks vHkkT; xq.ku[k.M ksa ds xq.kuQy ds :i e sa O ;Dr dhft,A 1 

Express 3825 as a product of its prime factors. 

2. 64 rFkk 96 dk HCF D;k gksxk \ 1 

What is HCF of 64 and 96 ? 

3. ,d  f}?kkr cgqin Kkr dhft,]  ftlds 'kwU ;dkas d k ;ksx rFkk xq.kuQy  Øe'k% –3 vkSj 2 gSaA  1 

Find a quadratic polynomial, the sum and product of whose zeroes are                      
–3 and 2 respectively. 

4. K ds fd u ekuksa ds fy ,] fuEu jSf[kd lehdj.kksa ds ;qX e dk ,d vf}rh; gy gS \ 1 

4x + Ky + 8 = 0 rFkk 2x + 2y + 2 = 0 

For what values of K does the pair of linear equations 4x + Ky + 8 = 0 and   
2x + 2y + 2 = 0 has unique solution ? 

5. K ds fdl e ku ds fy , f}?kkr le hdj.k Kx2 – 4x + 2 = 0 ds ewy cjkcj gSa \  1 

For what values of K, quadratic equation Kx2 – 4x + 2 = 0 has equal roots ? 

6. A. P. 10, 7, 4, ......... dk 5ok¡ in Kkr dhft,A 1 

Find 5th term of A. P. 10, 7, 4 ............ . 

7. vkd`fr eas DE|| BC gSA EC dh yackbZ Kkr dhft,A 1 

In figure DE|| BC. Find length of EC. 

 

 

 

8. ;fn 
4

3
sin =A ] rks cos A dk e ku Kkr dhft,A  1 

If 
4

3
sin =A , find value of cos A. 

9. sin 45° + cos 45° dk e ku K kr d hft ,A 1 

Find the value of sin 45° + cos 45°. 

A 

E 

C B 

D 

1 cm 1.5 cm 

3 cm 
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10. 7 lse h f= T;k okys ,d o`Ùk ds ,d f=T;[k.M dk {ks=Qy  K kr dhft,] ft ldk dks.k 60° gSA 1 

Find the area of a Sector of a circle with radius 7 cm if angle of the Sector is 

60°. 

11. ifjes; la[;k 
8

17  d s n'ke yo izlkj lkar gS ;k vlkar vkorhZA 1 

Whether the Rational number 
8

17
 will have a terminating decimal expansion 

or non terminating repeating decimal expansion. 

12. f} ?kkr le hdj.k 3x2 – 5x + 2 = 0 dk fofoDrd j Kkr dhft,A 1 

Find discriminant of quadratic equation 3x2 – 5x + 2 = 0. 

13. le karj Js< +h 7, 5, 3, 1 ........... dk lkoZ vUrj K kr dhft,A 1 

Find common difference of A.P. 7, 5, 3, 1 ........... . 

14. A.P. 2, 7, 12 ............ ds igys 6 inkas d k ;ksx Kkr dhft,A 1 

Find the sum of first 6 terms of A.P. 2, 7, 12 ............ . 

15. lHkh o`Ùk …………. gksrs gSaA ¼le:i@lok±xle½ 1 
All circles are ............... . (Similar/Congruent) 

16. fdlh o`Ùk d h Li'kZjs[kk mls ............ fcUnqvkas ij izfrPNsn d jrh gSA  1 

A tangent to a circle intersects it in …………… points. 

17. cká fcUnq ls o`Ùk ij [khap h xbZ Li'kZjs[kkvksa dh yEckb;k¡ ............. gksrh gSaA 1 

The lengths of tangents drawn from an external point to a circle are ............ . 

18. fcUnqvkas (–5, 7) vkSj (–1, 3) ds chp dh nwjh Kkr dhft,A 1 

Find distance between the points (–5, 7) and (–1, 3). 

19. cos2 θ + sin2 θ d k eku = .................. gksrk gSA 1 

The value of cos2 θ + sin2 θ = .................. . 
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20. ;fn P(E) = 0.15 gS]  rks ^E ugha*  dh izkf;drk D;k gksxh \   1 

If P(E) = 0.15, what is the probability of event 'not E' ? 

21. fu Eufyf[kr esa ls dkSu&lh la[;k vifje s; gS \ 1 

(A) 4   (B) 5  (C) 9  (D) 16  

Which of these is an Irrational number ? 

(A) 4   (B) 5  (C) 9  (D) 16  

22. f} ?kkr cgqin 2x2 + 5x – 3 d s 'kwU;dksa dk ;ksxQy  gS % 1 

(A) 
2

3−
  (B) 

5

2−
 (C) 

2

5−
 (D) 

5

3−
 

Sum of zeroes of quadratic Polynomial 2x2 + 5x – 3 is : 

(A) 
2

3−
  (B) 

5

2−
 (C) 

2

5−
 (D) 

5

3−
 

23. 

 

f} ?kkr le hdj.kksa ds ;qXe x – 3y – 3 = 0 rFkk 3x – 9y – 2 = 0 dk gy gks xk % 1 

(A) vf}rh; ,d gy   (B) dksbZ gy ugha 
(C) vifjfer vu sd gy  (D) bue sa ls dksbZ ugha  

The pair of linear equations x – 3y – 3 = 0 and 3x – 9y – 2 = 0 has solution : 

(A) Unique Solution  (B) No Solution 

(C) Infinitely Many Solutions (D) None of these 

24. bue sa ls dkSu&lh f}?kkr lehdj.k gS \ 1 
(A) (x + 2) (x + 1) = (x – 1) (x + 3) 

(B) x2 + 3x + 1 = (x – 2)2 

(C) (x + 1)2 = 2(x – 3) 

(D) (x + 2)3 = 2x (x2 – 1) 

Which of these is a quadratic equation ? 

(A) (x + 2) (x + 1) = (x – 1) (x + 3) 

(B) x2 + 3x + 1 = (x – 2)2 

(C) (x + 1)2 = 2(x – 3) 

(D) (x + 2)3 = 2x (x2 – 1) 
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25. f} ?kkr le hdj.k x2 – 3x – 10 = 0 ds ewy gksaxs % 1 
(A) 5, 2    (B) 5, –2  

(C) –5 , 2   (D) 5, 3 

Roots of the quadratic equation x2 – 3x – 10 = 0 are : 

(A) 5, 2    (B) 5, –2  

(C) –5 , 2   (D) 5, 3 

26. bue sa ls dkSu&lh A.P. fljht+ gS \ 1 
(A) 2, 4, 8, 12 ...........  (B) 0.2, 0.22, 0.222 ..........  

(C) 3, 5, 7, 9 ..........  (D) 1, 2, 4, 8 .......... 

Which one is A.P. series ? 

(A) 2, 4, 8, 12 ...........  (B) 0.2, 0.22, 0.222 ..........  

(C) 3, 5, 7, 9 ..........  (D) 1, 2, 4, 8 .......... 

27. ∆ABC vkSj ∆QRP le :i f=Hkqt  gSaA bu esa le :irk dh dkSu&lh dlkSVh iz;ksx gksxh \  1 

(A) S.A.S. 

(B) A.A.A. 

(C) S.S.S. 

(D) bu eas ls dksbZ ugha  

∆ABC and ∆QRP are similar. Which similarity criterion is used ? 

(A) S.A.S. 

(B) A.A.A. 

(C) S.S.S. 

(D) None of these 

28. ,d  fcUnq Q ls ,d  o`Ùk ij L i'kZjs[kk dh y EckbZ 24 lse h rFkk Q ds dsUnz ls nwjh 25 lse h gSA o`Ùk 
dh f= T;k gS % 1 

(A) 7 lse h  (B) 12 lse h (C) 15 lse h (D) 24.5 lseh 

From a point Q, the length of the tangent to a circle is 24 cm and distance of Q 

from the centre is 25 cm. The radius of the circle is : 

(A) 7 cm (B) 12 cm (C) 15 cm (D) 24.5 cm 

A 

B C 
2.5 

2 3 

Q 
4 

R 

5 

P 

6 

A 

B C 
2.5 

2 3 

Q 
4 

R 

5 

P 

6 
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29. ;fn ,d fcUnq P ls O dsUnz oky s fd lh o`Ùk ij PA rFkk PB Li'kZ js[kk,¡ ijLij 80° ds dks.k ij 
>qdh gks]  rks POA|  cjkcj gS %   1 

(A) 80°    (B) 70°  

(C) 60°    (D) 50° 

If tangents PA and PB from a point P to a circle with centre O are inclined to 

each other at angle of 80°, then POA|  is equal to : 

(A) 80°    (B) 70°  

(C) 60°    (D) 50° 

30. fcUnqvksa (–1, 7) rFkk (4, –3) dks fey kus okys js[kk[k.M d s e/; fcUnq ds funsZ'kkad gSa %  1 

(A) 







2,

2

1
   (B) (2, 1)  

(C) 







2,

2

3
   (D) 







 −

2

1
,

2

3  

Co-ordinates mid point of line joining two points (–1, 7) and (4, –3) is : 

(A) 







2,

2

1
   (B) (2, 1)  

(C) 







2,

2

3
   (D) 







 −

2

1
,

2

3
 

31. y&v{k ij fdlh fcUnq ds funsZ'kkad gksaxs % 1 

(A) (x, y)    (B) (x, 0)  

(C) (y, 0)   (D) (0, y) 

Co-ordinates of any point on y-axis are : 

(A) (x, y)    (B) (x, 0)  

(C) (y, 0)   (D) (0, y) 

32. ewy  fcUnq ds fu nsZ'kkad gksrs gSa % 1 

(A) (x, 0)  (B) (0, 0) (C) (x, y) (D) (0, y) 
The co-ordinates of origin are : 
(A) (x, 0)  (B) (0, 0) (C) (x, y) (D) (0, y) 
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33. ;fn ,d o`Ùk dk ifje ki vkSj {ks=Qy  la[;kRe d cjkcj gS] rks ml o`Ùk dh f= T;k gS % 1 
(A) 2 e k= d   (B) π e k= d  
(C) 4 e k= d   (D) 7 e k= d 
If the perimeter and area of a circle are numerically equal, then radius of the 
circle is : 

(A) 2 Unit   (B) π Unit  

(C) 4 Unit   (D) 7 Unit 

34. o`Ùk ds O ;kl o f= T;k e as vkilh laca/ k gS % 1 

(A) O ;kl = 
2

  (B) O;kl = f= T;k 

(C) O ;kl = 2 × f=T;k  (D) f=T;k = 2 × O ;kl 
The relation between diameter and radius of a circle is : 

(A) Diameter = 
2

Radius
 (B) Diameter = Radius 

(C) Diameter = 2 × Radius (D) Radius = 2 × Diameter 

35. ?ku kHk ftldh yEckbZ] pkSM+kbZ vkSj Å¡p kbZ Øe'k% 10 lseh]  6 lseh rFkk 4 lseh gS] dk vk;ru gksxk % 1 

(A) 240 lseh3   (B) 250 lseh3  

(C) 400 lseh3   (D) 280 lseh3 
The volume of cuboid whose length, breadth and height are 10 cm, 6 cm and 
4 cm respectively is : 

(A) 240 cm3   (B) 250 cm3  

(C) 400 cm3   (D) 280 cm3 

36. R lse h f= T;k oky s xksy s dk i`"B h; {ks=Q y gksrk gS % 1 

(A) πR2    (B) 2 πR2  

(C) 3 πR2   (D) 4 πR2 

Surface area of a sphere of radius R is : 

(A) πR2    (B) 2 πR2  

(C) 3 πR2   (D) 4 πR2 

f=T;k 
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37. igyh 5 izkd`r la[;kvksa dk e k/; gS % 1 
(A) 5  (B) 4 (C) 3 (D) 2 

Mean of the first 5 Natural numbers is : 

(A) 5  (B) 4 (C) 3 (D) 2 

38. fu Eufyf[kr vk¡dM +ksa 2, 3, 5, 3, 6, 4, 3, 5 dk cgqyd  gksxk % 1 

(A) 2  (B) 3 (C) 4 (D) 5 
Mode of the following data 2, 3, 5, 3, 6, 4, 3, 5 will be : 

(A) 2  (B) 3 (C) 4 (D) 5 

39. ,d  FkSys esa 4 yky rFkk 6 dkyh xsansa gSaA FkSys esa ls ,d xsan ;kn`PN;k fu dkyh tkrh gSA fud kyh xbZ xsan 
ds yky  gksu s dh izkf;drk gksxh % 1 

(A) 
5

2
  (B) 

5

4
 (C) 

10

6
 (D) 

5

3
 

A bag contains 4 red and 6 black balls. A ball is drawn at random from the 
bag. The probability that the ball drawn is red : 

(A) 
5

2
  (B) 

5

4
 (C) 

10

6
 (D) 

5

3
 

40. bue as ls dkSu&lh la[;k fdlh ?kVu k dh izkf;drk u ghau ghau ghau gha gks ldrh \ 1 

(A) 
3

2
  (B) 25% (C) 

2

3
 (D) 0.7 

Which of the following cannot be probability of an event ? 

(A) 
3

2
  (B) 25% (C) 

2

3
 (D) 0.7 
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